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Maths – Answers (4.5.20) 
Fluent in 5:  

1. 345 x 23 = 7935. You should have used long multiplication for this 

 

2. 2/8 + 2/8 = 4/8 but our final answer should be in its simplest form: ½  

 

3. 456,231 – 387,123 = 69,108. You should have used column subtraction for this.  

 

4. 12,654 + 21,329 = 33,983 You should have used inverse operation for this: 

33,983 – 12,654 

 

5. 0.56 x 100 = 56  

 
Reasoning 
 

 
     
 
 
 
 
 

Mastery- possible answers: 653,530 or 653,537 or 650,537 or 650,533 

 

 
English – answers (4.5.20) 
 
1. 

 
 



2.  
 
 
 
 
 
 
 
 
 
 
3.  

 
Foundations Subject – Rights Respecting 
 

There was no right or wrong answer for this work that I set. I thought it was 

just a lovely opportunity for you to get creative and reflect on current events 

– I would love for anything you did do to be brought back into school on our 

return.  
 


